FURTHER EXAMPLES TO SUPPLEMENT TODAY’S LECTURE

 (ANSWER KEY)
1) Do men and women differ with respect to how many sexual partners they claim to have had in the previous year?  The results below are based on data from the General Social Survey.  Do these data support the claim that gender (X) is associated with reported numbers of sexual partners (Y)? If there is an association, describe it (in substantive terms).  Use =0.01 for the hypothesis test.
X=1

X=2
Male

Female

Total

Y=1: No Sex Partners

1,562

2,860

4,422

Column %


12.0%

24.2%

17.8%

Expected Value under H0
2320.8

2101.2


Y=2: One Partner

9,548

7,778

17,326

Column %


73.2%

65.8%

69.7%

Expected Value under H0
 9093.3
8232.7
Y=3: 2 or More Partners
1,938

1,175

3,113

Column %


14.9%

9.9%

12.5%

Expected Value under H0
1633.8

1479.2
Total 



13,048

11,813

24,861






100%

100%

100%

(1) Hypotheses: 
H0: No association between X and Y   
H1: Association between X and Y
(2) Assumptions: None of the cells have very small sample sizes (<10)
(3) Confidence Level: =0.01
(4) Critical Value: 13.28 (Reject H0 if 2 > 13.28)
(5) Test Statistic: 

Exp. Val. for CellX=1,Y=1: (Row Tot. x Col. Tot.)/Tot. = (13,048 x 4,422)/24,861=2,320.8

2 = (2320.8-1562)2/2320.8 + (2101.2-2860)2/2101.2 + (9093.3-9548)2/9093.3

      + (8232.7-7778)2/8232.7 + (1633.8-1938)2/1633.8 + (1479.2-1175)2/1479.2

2 =248.11 + 274.1 + 22.73 + 25.11 + 56.63 + 62.55
2 =689.2

(6) Conclusion: Reject H0
Given the column percentages, it seems that men have more sex partners.  They are less likely to report having had none, and more likely to report having had two or more.
